Logarithms and exponentials

Rewrite in exponential form
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Rewrite in log form
3.5* =625 4.9% =729 5.e% = 20.086
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Condense the logs
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7.log, 12x* — log, 4x? ‘0\3 2 3 Xz
Expand Logs
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Solve logs

10. 3¢*-2=634.57 |. §4

11. 2345 = 400 |. 21

12.loga(x +3)+ log, (x) =1 ¥X= |
13.In5 + In(x - 5) =10 Y4l[p.3
Exponential functions

14. Initial population of Atlanta is 3,000 people, growing 4.6% per year.
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A. what is the exponential function? \/ = 300 Q( I Oq(ﬂ)
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% B. what would the equation be if the population decreased 1.2% per 2 years? Y )
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Find the growth / decay rate
15. f(x) = 4.8(2.05)* 16. f(x) = 2(.325)*
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Do the following equations represent growth or decay?
17.y = 15(1.3)* 18. y = 20(.785)* 19. y = 1254e2%*
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20. James Hall high school’s freshman student population increases 1.2% every year. There are
1203 freshmen this year. Write a function that models the amount of students per year. Find the

number of freshmen after 3 years. \} - \903(“0 ‘&Y( Xx=3 > % | A U

21. A car sells for $25,350 but decreases in value 25% each year. Write a function that models
the value of the car after x many years. Find the Value of the car after 5 years
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22. You have $2250 to invest for the next 7 years. Compare the account values based on the
following investments.

\): P( |4 _\5_\)(“ ) < a) Interest compounded monthly at 4.0% 51; d 9 15, bk
b) Interest compounded quarterly at 4.2% % 201 439
y Pe ) ¢) Interest compounded continuously at 3.9% 29 56 ag
N=a \O'E d) Interest compounded annually at 4.5% 30G1.9 "t
23. A population of rabbits increase in t days is modeled by the equation P = 150e-95¢
a) How many rabbits are there right now? ‘ 5 0
b) How many rabbits will there be in 1 week? ) A

Solve using logarithms:

Diego decided to invest his $500 tax refund rather than spending it. He found a bank that would
pay him 4% interest, compounded quarterly. If he deposits the entire $500 and does not deposit
or withdraw any other amount how long will it take to double his money in the account?
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Find the inverse of each function: LS
a) y = log,(x + 8) b) y =logg(x) — 4 c)y= 4"+5 d) y= 4"'3 + 2
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